



Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	ANGLE BAR 1" X 1" X 3/16" X 20' Org- 0122	1.00000	EA	50.000000	50.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

ANGLE BAR 1" X 1" X 3/16" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	ANGLE BAR 2" X 2" X 5/16" X 20' Org- 0122	1.00000	EA	110.000000	110.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

ANGLE BAR 2" X 2" X 5/16" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	ANGLE STR 3" X 3" X 3/8" X 20' Org- 0122	1.00000	EA	155.000000	155.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

ANGLE STR 3" X 3" X 3/8" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	BAR CF ROUND C1045 1/2" X 20' Org- 0122	1.00000	EA	100.000000	100.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

BAR CF ROUND C1045 1/2" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	BAR CF ROUND C1045 5/8" X 20' Org- 0122	1.00000	EA	100.000000	100.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

BAR CF ROUND C1045 5/8" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	BAR CF ROUND C1045 3/4" X 20' Org- 0122	1.00000	EA	150.000000	150.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

BAR CF ROUND C1045 3/4" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	BAR CF ROUND C1045 7/8" X 20' Org- 0122	1.00000	EA	170.000000	170.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

BAR CF ROUND C1045 7/8" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	STRIP HR 3/16" X 2" X 20' Org- 0122	1.00000	EA	60.000000	60.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:** HR Strip CQ

**Extended Description:**

STRIP HR 3/16" X 2" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	BAR HR Flat 5/16" x 2" x 20' Org- 0122	1.00000	EA	75.000000	75.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

BAR HR Flat 5/16" x 2" x 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	STRIP HR 3/16" X 1" X 20' Org- 0122	1.00000	EA	50.000000	50.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: HR Strip CQ

**Extended Description:**

STRIP HR 3/16" X 1" X 20'  
Org- 0122

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	2" x 2" x 1/8" x 24 ' Org- 0124	5.00000	EA	115.000000	575.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: SQ TUBE

**Extended Description:**

2" x 2" x 1/8" x 24 '  
Org- 0124

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	3/16" x 48" x 120" ( cut 30" x 120") Org- 0124	1.00000	EA	350.000000	350.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments:

**Extended Description:**

3/16" x 48" x 120" ( cut 30" x 120")  
Org- 0124

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	4'x8' 1/4" thick sheets Org-0123	2.00000	EA	330.000000	660.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments:

**Extended Description:**

4'x8' 1/4" thick sheets  
Org-0123

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	4' x 8' 18 gauge Sheet Org-0123	2.00000	EA	100.000000	200.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: Sheet HR CQ

**Extended Description:**

4' x 8' 18 gauge Sheet  
Org-0123

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Hot Roll Round Bar, Full Stick, 1/4" Org-0173	1.00000	EA	30.000000	30.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Hot Roll Round Bar, Full Stick, 1/4"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	Hot Roll Round Bar, Full Stick, 3/8" Org- 0173	1.00000	EA	35.000000	35.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Hot Roll Round Bar, Full Stick, 3/8"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	Hot Roll Round Bar, Full Stick, 1/2" Org-0173	1.00000	EA	45.000000	45.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Hot Roll Round Bar, Full Stick, 1/2"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
18	Hot Roll Round Bar, Full Stick, 5/8" Org-0173	1.00000	EA	55.000000	55.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Hot Roll Round Bar, Full Stick, 5/8"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
19	Hot Roll Round Bar, Full Stick, 3/4" Org-0173	1.00000	EA	70.000000	70.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Hot Roll Round Bar, Full Stick, 3/4"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
20	Hot Roll Round Bar, Full Stick, 7/8" Org-0173	1.00000	EA	80.000000	80.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Hot Roll Round Bar, Full Stick, 7/8"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
21	Hot Roll Round Bar, Full Stick, 1" Org-0173	1.00000	EA	95.000000	95.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Hot Roll Round Bar, Full Stick, 1"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
22	Hot Roll Round Bar, Full Stick, 1 1/8" Org-0173	1.00000	EA	175.000000	175.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Hot Roll Round Bar, Full Stick, 1 1/8"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
23	Hot Roll Round Bar, Full Stick, 1 1/14" Org-0173	1.00000	EA	150.000000	150.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Hot Roll Round Bar, Full Stick, 1 1/14"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
24	Hot Roll Round Bar, Full Stick, 1 1/2" Org-0173	1.00000	EA	170.000000	170.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Hot Roll Round Bar, Full Stick, 1 1/2"  
Org.-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
25	Angle, Full Joint, 1/4" T 2" x 2" Org.-0173	1.00000	EA	80.000000	80.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Angle, Full Joint, 1/4" T 2" x 2"  
Org.-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
26	Angle, Full Joint, 1/4" T 3" x 3" Org.-0173	1.00000	EA	115.000000	115.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Angle, Full Joint, 1/4" T 3" x 3"  
Org.-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
27	Angle, Full Joint, 1/4" T 4" x 4" Org.-0173	1.00000	EA	150.000000	150.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Angle, Full Joint, 1/4" T 4" x 4"  
Org.-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
28	Angle, Full Joint, 1/2" T 3" x 3" Org.-0173	1.00000	EA	200.000000	200.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Angle, Full Joint, 1/2" T 3" x 3"  
Org.-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
29	Angle, Full Joint, 1/2" T 4" x 4" Org.-0173	1.00000	EA	265.000000	265.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Angle, Full Joint, 1/2" T 4" x 4"  
Org.-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
30	Sq Tube, Full Joint, 1/8" T 1"x1" Org- 0173	1.00000	EA	100.000000	100.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:** Tube HREW

**Extended Description:**

Sq Tube, Full Joint, 1/8" T 1"x1"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
31	Sq Tube, Full Joint, 1/8" T 2"x2" Org-0173	1.00000	EA	150.000000	150.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Sq Tube, Full Joint, 1/8" T 2"x2"  
Org-0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
32	Sq Tube, Full Joint, 1/4" 2"x2" Org- 0173	1.00000	EA	210.000000	210.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Sq Tube, Full Joint, 1/4" 2"x2"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
33	Plate 4' x 10' Sheets 1/8 T Org- 0173	1.00000	EA	250.000000	250.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Plate 4' x 10' Sheets 1/8 T  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
34	Plate 4' x 10' Sheets 3/16 T Org- 0173	1.00000	EA	350.000000	350.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Plate 4' x 10' Sheets 3/16 T  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
35	Plate 4' x 10' Sheets 1/4 T Org- 0173	1.00000	EA	420.000000	420.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Plate 4' x 10' Sheets 1/4 T  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
36	Plate 4' x 10' Sheets 3/8 T Org- 0173	1.00000	EA	620.000000	620.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Plate 4' x 10' Sheets 3/8 T  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
37	Plate 4' x 10' Sheets 1/2 T Org- 0173	1.00000	EA	800.000000	800.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:****Extended Description:**

Plate 4' x 10' Sheets 1/2 T  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
38	Flat Bar, Full Stick, 1/8 T 1" Org- 0173	1.00000	EA	40.000000	40.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: HR Strip CQ

**Extended Description:**

Flat Bar, Full Stick, 1/8 T 1"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
39	Flat Bar, Full Stick, 1/8 T 2" Org- 0173	1.00000	EA	50.000000	50.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: HR Strip CQ

**Extended Description:**

Flat Bar, Full Stick, 1/8 T 2"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
40	Flat Bar, Full Stick, 1/8 T 3" Org- 0173	1.00000	EA	75.000000	75.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: HR Strip CQ

**Extended Description:**

Flat Bar, Full Stick, 1/8 T 3"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
41	Flat Bar, Full Stick, 1/8 T 4" Org- 0173	1.00000	EA	75.000000	75.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: HR Strip CQ

**Extended Description:**

Flat Bar, Full Stick, 1/8 T 4"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
42	Flat Bar, Full Stick, 1/8 T 6" Org- 0173	1.00000	EA	80.000000	80.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: HR Strip CQ

**Extended Description:**

Flat Bar, Full Stick, 1/8 T 6"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
43	Flat Bar, Full Stick, 1/4 T 1" Org- 0173	1.00000	EA	50.000000	50.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 1"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
44	Flat Bar, Full Stick, 1/4 T 1 1/2" Org- 0173	1.00000	EA	60.000000	60.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 1 1/2"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
45	Flat Bar, Full Stick, 1/4 T 2" Org- 0173	1.00000	EA	60.000000	60.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 2"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
46	Flat Bar, Full Stick, 1/4 T 2 1/2" Org- 0173	1.00000	EA	65.000000	65.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 2 1/2"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
47	Flat Bar, Full Stick, 1/4 T 3" Org- 0173	1.00000	EA	90.000000	90.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 3"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
48	Flat Bar, Full Stick, 1/4 T 4" Org- 0173	1.00000	EA	100.000000	100.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 4"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
49	Flat Bar, Full Stick, 1/4 T 5" Org- 0173	1.00000	EA	115.000000	115.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 5"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
50	Flat Bar, Full Stick, 1/4 T 6" Org- 0173	1.00000	EA	130.000000	130.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Flat Bar, Full Stick, 1/4 T 6"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
51	Plate 1 Each 2" T x 16" x 48" Org- 0173	1.00000	EA	600.000000	600.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Plate 1 Each 2" T x 16" x 48"  
Org- 0173

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
52	Cod Rolled Pin 1" X 10' Org-0170	2.00000	EA	105.000000	210.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: CF 1045

**Extended Description:**

Cod Rolled Pin 1" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
53	Cod Rolled Pin 1 1/4" X 10' Org-0170	2.00000	EA	155.000000	310.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: CF 1045

**Extended Description:**

Cod Rolled Pin 1 1/4" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
54	Cod Rolled Pin 1 1/2" X 10' Org-0170	4.00000	EA	200.000000	800.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments: CF 1045

**Extended Description:**

Cod Rolled Pin 1 1/2" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
55	Steel Angle 1/4" X 2" X 2" X 10' Org-0170	4.00000	EA	40.000000	160.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments:

**Extended Description:**

Steel Angle 1/4" X 2" X 2" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
56	Steel Angle 1/4" X 2 1/2" X 2 1/2" X 10' Org-0170	4.00000	EA	50.000000	200.00

Comm Code	Manufacturer	Specification	Model #
11101704			

Commodity Line Comments:

**Extended Description:**

Steel Angle 1/4" X 2 1/2" X 2 1/2" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
57	Steel Angle 1/4" X 3" X 3" X 10' Org-0170	4.00000	EA	60.000000	240.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Angle 1/4" X 3" X 3" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
58	Steel Channel 1/4" X 3" X 10' Org-0170	4.00000	EA	60.000000	240.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:** C3 x 4.1#

**Extended Description:**

Steel Channel 1/4" X 3" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
59	Steel Channel 1/4" X 4" X 10' Org-0170	4.00000	EA	90.000000	360.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:** C4 x 7.25# or C4 x 6.25#

**Extended Description:**

Steel Channel 1/4" X 4" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
60	Steel Box Tubing 1/4" X 2" X 2" X 12' Org-0170	4.00000	EA	100.000000	400.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Box Tubing 1/4" X 2" X 2" X 12'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
61	Steel Box Tubing 1/4" X 3" X 3" X 12' Org-0170	4.00000	EA	150.000000	600.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Box Tubing 1/4" X 3" X 3" X 12'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
62	Steel Box Tubing 1/4" X 4" X 4" X 12' Org-0170	4.00000	EA	200.000000	800.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Box Tubing 1/4" X 4" X 4" X 12'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
63	Steel Flat Bar 1/4" X 2" X 10' Org-0170	4.00000	EA	40.000000	160.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Flat Bar 1/4" X 2" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
64	Steel Flat Bar 1/4" X 4" X 10' Org-0170	4.00000	EA	50.000000	200.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Flat Bar 1/4" X 4" X 10'  
Org-0170

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
65	Steel Flat Bar 1/2" X 4" X 10' Org-0170	4.00000	EA	75.000000	300.00

Comm Code	Manufacturer	Specification	Model #
11101704			

**Commodity Line Comments:**

**Extended Description:**

Steel Flat Bar 1/2" X 4" X 10'  
Org-0170